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Regular rooted trees

Let X be a finite set called an alphabet, and let X* be the set of
finite words over the alphabet X including the empty word, &.
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Regular rooted trees

Let X be a finite set called an alphabet, and let X* be the set of
finite words over the alphabet X including the empty word, &.
X* has the structure of the vertex set of a rooted tree, 7Tx
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Definition
An automorphism of Tx is a bijection from X* to X* which
preserves edge incidences.
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Regular rooted trees

Let X be a finite set called an alphabet, and let X* be the set of
finite words over the alphabet X including the empty word, &.
X* has the structure of the vertex set of a rooted tree, 7Tx

z

00 01 10 11

Definition

An automorphism of Tx is a bijection from X* to X* which
preserves edge incidences.

Any such function on the finite words uniquely determines a
function on X%, the set of infinite words. Likewise, any “prefix
relation preserving” function on X“ defines an automorphism of
the tree.
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Finite State (Mealy) Automata

Definition

A finite state (Mealy) automaton is A is a 4-tuple A = (Q, X, 0, )
where Q is finite a set of states, X is a finite alphabet,

0: Q@ x X = Q is the transition function, and \: @ x X — X is
the output function. For each g € Q and x € X, we will use the
notation Aq(x) to mean A(gq, x).
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Definition

A finite state (Mealy) automaton is A is a 4-tuple A = (Q, X, 0, )
where Q is finite a set of states, X is a finite alphabet,

0: Q@ x X = Q is the transition function, and \: @ x X — X is
the output function. For each g € Q and x € X, we will use the
notation Aq(x) to mean A(gq, x).

Described by a directed, labeled graph with vertices labeled by Q

and edges

X >\qx
2909, 5(q, x)
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Finite State (Mealy) Automata

Definition

A finite state (Mealy) automaton is A is a 4-tuple A = (Q, X, 0, )
where Q is finite a set of states, X is a finite alphabet,

0: Q@ x X = Q is the transition function, and \: @ x X — X is
the output function. For each g € Q and x € X, we will use the
notation Aq(x) to mean A(gq, x).

Described by a directed, labeled graph with vertices labeled by Q

and edges
X|>‘Q(X) 6(q,X)

Ag extends to a function X* and X“:

Ag(X0, X1, -+ -5 Xn) = Ag(X0) As(g,x0) (X1 - - - s Xn)
and
Ag(x0,x1,...) = n||_>rr;0 Ag(X0, X1, - -+, Xn).
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Finite State (Mealy) Automata

Definition by example: The Aléshin Automaton
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Each state gives a function from X% — X%,
A is invertible if, for each g, A4 is a permutation of the alphabet.
In this case, states define automorphisms of Tx.
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Finite State (Mealy) Automata

Definition by example: The Aléshin Automaton

1]0

C/O -
b
01

Each state gives a function from X% — X%,

A is invertible if, for each g, A4 is a permutation of the alphabet.
In this case, states define automorphisms of Tx.

The group generated by the states of A is called the automaton
group for A and denoted G(A).
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Duals and inverses

For an A= (Q, X,d,)\), its dual automaton 0.A is given by
(X, Q,\,0), i.e., the alphabet and states are interchanged and the
output and transition functions are interchanged.
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Duals and inverses

For an A= (Q, X,d,)\), its dual automaton 0.A is given by
(X, Q,\,0), i.e., the alphabet and states are interchanged and the
output and transition functions are interchanged.
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Duals and inverses

For an A= (Q, X, 4, ), its dual automaton O.A is given by
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Duals and inverses

For an A= (Q, X, 4, ), its dual automaton O.A is given by
(X, Q,\,9), i.e., the alphabet and states are interchanged and the
output and transition functions are interchanged.

The inverse automaton A~! is obtained by switching the input and

output letters on the edge labels. In this case, the inverse to A, is
computed by the state corresponding to g in A™L.
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Duals and inverses

For an A= (Q, X, 4, ), its dual automaton O.A is given by
(X, Q,\,9), i.e., the alphabet and states are interchanged and the
output and transition functions are interchanged.

The inverse automaton A~! is obtained by switching the input and
output letters on the edge labels. In this case, the inverse to A, is

computed by the state corresponding to g in A™L.

Taking the dual and inverse iteratively produces up to 8 unique
automata. If A and OA are invertible, A is called reversible.

If A, 0A, and A~ are invertible, A is called bireversible. In this
case, all 8 possible automata are invertible.
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Duals and inverses
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Why bireversible automaton groups?

First examples of free groups and virtually free groups as
automaton groups were bireversible
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Why bireversible automaton groups?

First examples of free groups and virtually free groups as
automaton groups were bireversible

Bireversible automaton groups act essentially freely on the
boundary of the rooted tree hence, one can potentially compute
spectral measures for their random walks via the action on the tree.
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Lamplighter like groups

By a lamplighter-like group we mean a restricted wreath product
AVZ = P, A x Z with A a finite abelian group.
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By a lamplighter-like group we mean a restricted wreath product
AVZ = P, A x Z with A a finite abelian group.

Various automaton representations of lamplighter like groups have
been found (Grigorchuk, Zuk, Nekrashevych, Sushanksii, Sidki,
Savchuk, Steinberg, Silva, SuniE, Juschenko, Wesolek,
Bartholdi.....)
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Lamplighter like groups

By a lamplighter-like group we mean a restricted wreath product
AVZ = P, A x Z with A a finite abelian group.

Various automaton representations of lamplighter like groups have
been found (Grigorchuk, Zuk, Nekrashevych, Sushanksii, Sidki,
Savchuk, Steinberg, Silva, SuniE, Juschenko, Wesolek,
Bartholdi.....)

Bondarenko, D'Angeli, and Rodaro constructed (Z/3Z)Z as a
bireversible automaton group (2016).

Likewise, Ahmed and Savchuk realized (Z/27)? 1 Z as a
bireversible automaton group (2018).
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Rational power series approach

Let R be a finite commutative ring with 1, used as our alphabet.
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Let R be a finite commutative ring with 1, used as our alphabet.
Identify R“ with R[[t]] via

(ro,rl,rz,...)l—>r0—|—r1t—|—r2t2_|_...
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Rational power series approach

Let R be a finite commutative ring with 1, used as our alphabet.
Identify R“ with R[[t]] via

(ro,rl,rz,...)l—>r0—|—r1t—|—r2t2_|_...

Then for any f € R[[t]] define two functions pf and af on R¥
given by
pr - g(t) — f(t)g(t)
ar - g(t) — £(t) + g(t)
Exercise: For f invertible, these define automorphisms of T and
for prapps—1 = am.
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Rational power series approach

Fix now f = r (%:Zg) with r € R* and a,b € R.
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Rational power series approach

Fix now f = r (%:Z;) with r € R* and a,b € R.

Proposition (S, Steinberg)

1—bt
state with set of states {a_spafiraisp 1 S € R}. Moreover, for any
s € R, the state a_gpafiraisp permutes the degree zero terms via:

Let f(t) = r (1—“) where r € R* and a,b € R. Then pf is finite

S+——r(S+ (b— a)s).
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Rational power series approach

Fix now f = r (%:Z;) with r € R* and a,b € R.

Proposition (S, Steinberg)

1—bt
state with set of states {a_spafiraisp 1 S € R}. Moreover, for any
s € R, the state a_gpafiraisp permutes the degree zero terms via:

Let f(t) = r (1—“) where r € R* and a,b € R. Then pf is finite

S+——r(S+ (b— a)s).

We can associate to f a finite state automaton Af with states
{a_smaptrasp : s € R}. Transition and output functions are

5(a—sraﬂfasba §) = O (sb+3)raltf O(sb+3)b

and
)\(afsra,ufasba §) = r(§ + (b - 3)5)
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Rational power series approach

Theorem (S, Steinberg)

Let "
— at
f(t) =
(t) r<1—bt>

where r € R* and a,b € R. Ifa— b € R*, then
G(Af) = <04—5raﬂf055b s € R> >~ R 7.
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Rational power series approach
Theorem (S, Steinberg)
Let

0= (1=5)

where r € R* and a,b€ R. Ifa— b € R*, then
G(Af) = (a_gapifasp : s € Ry X RT Z.

(Sketch) a_gpafiftsh = Q_gratspffif = Qs(—ar+bf)If SO We can
consider the generating set {cg(_ar1br), pif : S € R}.
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Rational power series approach
Theorem (S, Steinberg)
Let

0= (1=5)

where r € R* and a,b€ R. Ifa— b € R*, then
G(Af) = (a_gapifasp : s € Ry X RT Z.

(Sketch) a_gpafiftsh = Q_gratspffif = Qs(—ar+bf)If SO We can
consider the generating set {cg(_ar1br), pif : S € R}.

Moreover, HfmQs(—artbf)Hf—m = Qls(—ar+bf)fm-

If b— a a unit, then (—ar + bf)f™ is linearly independent over R
(in fact if and only if). And so,

N = (ag(—arsbryrm - M€ Z) = Py RT.
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Rational power series approach
Theorem (S, Steinberg)
Let

0= (1=5)

where r € R* and a,b€ R. Ifa— b € R*, then
G(Af) = (a_gapifasp : s € Ry X RT Z.

(Sketch) a_gpafiftsh = Q_gratspffif = Qs(—ar+bf)If SO We can
consider the generating set {cg(_ar1br), pif : S € R}.

Moreover, HfmQs(—artbf)Hf—m = Qls(—ar+bf)fm-

If b— a a unit, then (—ar + bf)f™ is linearly independent over R
(in fact if and only if). And so,

N = (ag(—arsbryrm - M€ Z) = Py RT.

N is normal and torsion and so intersects (uf) = Z trivially and so
G(Af) ~ RN Z. L]
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Rational power series approach

Theorem (S, Steinberg)

Let ]
— T
f(t) =
(t) r<1—bt>

where r € R*, a,b € R and a— b is a unit. Then As has |R)|
states. Moreover,

Q Ar is reversible if and only if b is a unit.
@ (Ar)~! is reversible if and only if a is a unit.

© Ay is bireversible if and only if both a and b are units.
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Commutative rings with a, b and a-b units

Theorem (S, Steinberg)

Let A be a finite abelian group. Then there is a finite commutative
ring R with R* = A and two elements a,b € R* with a— b € R*
if and only if A= A; & Ay where A1 has odd order and

Ay = (Z)22) @ (Z/222)2 @ - - - @ (Z/28Z)% with a; # 1 for all

1</ <t
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Commutative rings with a, b and a-b units

Theorem (S, Steinberg)

Let A be a finite abelian group. Then there is a finite commutative
ring R with R* = A and two elements a,b € R* with a— b € R*
if and only if A= A; & Ay where A1 has odd order and

Ay 2 (Z)27) & (Z/2°7)2 @ - - - @ (Z/21Z)? with a; # 1 for all
1<i<t

Corollary

For any finite abelian group described in the last theorem, there
exists a bireversible automaton generating Al Z.
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Examples

00 1]2 01

Figure: The bireversible automaton given by Bodarenko, D’'Angeli,

1-2t
Rodaro for Z /371 Z and corresponding to f(t) = 2 ( - ).(Observed

by Bondarenko and Savchuk)
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Examples

412

5(3
4 2|

\‘ 30
< ; (3
314B 12 ‘ 0|20 |4

414 5[0
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|1

1]2 2] 4

t .
that is

Figure: An automaton which generates Z/6Z Z for f = 1ot

not reversible and whose inverse is also not reversible.
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Examples

Take O = Z[(] with ¢ a third root of unity and

R=0/40 =2 7/4Z|C]. Takingr=1,a=1,and b=2+(, we
find that a, b, and b — a are all units with inverses 1, 3+ (, and
1 + ( respectively. RT = (Z/4Z)>.

state \ letter 0 1 2 3 ¢ 1+¢ 2+( | 3+¢C 2( 1+2((2+2(|3+2C 3¢ 1+3C[2+3C|3+3C
0 0 1 2 3 X 1+C | 2+C | 3+C | 2 |1+2C|2+2C[3+2(| 3C |1+3C[2+3C]|3+3C
1 24¢ | 3+¢ ¢ 1+¢ [24+2(|3+2¢ 2¢ 1+2C|2+3C[3+3C 3¢ 1+3¢ 2 3 0 1
2 2 |1+2C|2+2C|3+2C| 3C |1+3C|2+3C|3+3C| 0 T 2 3 C T+C | 2+C | 3+¢C
3 2+3C|3+3C| 3 [1+3C| 2 3 0 1 2+C | 3+¢ 5 T+C |2+2¢C|3+2C| 2¢ [1+2C
¢ 3+C ¢ 1+C | 2+C |3+2(| 2 |1+2¢|2+2C|3+3C| 3¢ |1+3C|2+3(| 3 0 1 2
1+¢ 1+2C|2+2C[3+2C| 2 [1+3C|2+3C[3+3C] 3 1 2 3 0 1+¢ | 2+¢ | 3+¢C 4
2+¢ 3+3C| 3 |[1+3C[2+3] 3 0 T 2 [ 3+C| ¢ [1+c¢|2+C[3+2| 2¢ [1+2¢c|2+2C
3+¢C 1 2 3 0 1+C | 2+¢ [ 3+¢ C [1+2C[2+2C[3+2C| 2 [1+3C|2+3C[3+3(| 3¢
2 2+2( [3+2¢| 2¢ [1+2(|2+3([3+3¢| 3 [1+3 2 3 0 1 2+( | 3+¢ ¢ 1+C
1+2( 3 |1+3C|2+3C|3+3C| 0 1 2 3 ¢ 1+C | 24C | 3+C | 2 |1+2(|2+2C|3+2C
2+ 2 2 3 0 T 2+C | 3+C C T+C |2+2C|3+2¢C| 2 |1+2C|2+3C|3+3C| 3 |1+3C
3+2C ¢ T+C | 2+4C | 34C | 2 |i+ac|2+2c|[3+2C| 3 |1+3C|2+3[3+3] 0 1 2 3
3¢ 1+3C | 2+3([3+3(] 3¢ 1 2 3 0 1+C | 2+¢ [ 3+¢ ¢ 1+2([2+2([3+2(]| 2
113 3 0 1 2 [ 3+C| ¢ |1+ |2+ |3+20] 2 |1+2¢(|2+2¢|3+3¢| 3 |1+3(]|2+%
2+ 3C T+¢ | 2+C | 3+¢C T [1+2¢|[2+2C|3+2C| 2 [1+3C[2+3C|3+3C| 3C 1 2 3 0
34 3¢ 342 2( 1+2( 242|343 3¢ 1+3C|2+3¢ 3 0 1 2 3+ ¢ 1+( 24 ¢
. 1—at .
Table: The transition table for f =r{ ——— | with r=1, a=1, and

1— bt
b=2+C¢.
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Examples

Take O = Z[(] with ¢ a third root of unity and

R=0/40 =2 7/4Z|C]. Takingr=1,a=1,and b=2+(, we
find that a, b, and b — a are all units with inverses 1, 3+ (, and
1 + ( respectively. RT = (Z/4Z)>.

state \ letter 0 1 2 3 ¢ 1+¢[2+¢C[3+¢C 2¢ 1420 [2+2C|3+2¢ 3¢ 1+3C[2+3C[3+3C
0 0 1 2 3 [ 1+¢ [ 2+¢ [ 3+C¢ | 2¢ [1+2¢[2+2¢[3+2¢[ 3¢ [1+3¢[2+3C[3+3C
1 T+¢ | 2+C | 3+¢C T [1+2¢C|2+2¢C|3+2C] 2 |1+3C|2+3C|3+3C| 3 1 2 3 0
2 2+20[3+2C| 2 |1+2([2+3C[3+3C| 3C [1+3C| 2 3 0 1 2+C [ 3+¢ 4 1+¢
3 3+3C| 3¢ |1+3¢|2+3¢| 3 0 1 2 3+¢ ¢ 1+¢ | 2+C [3+2C| 2¢ [1+2(|2+2C
¢ 3 0 1 2 3+¢ ¢ 1+¢ | 2+C [3+2¢| 2 [1+2¢[2+2([3+3¢(| 3¢ |1+3¢[2+3C
T+C 4 T+C | 2+C | 3+C | 2 |1+2C|2+2C|3+2C| 3 |1+3C|2+3|3+3C] 0 1 2 3
24 ¢ T2 2120 3+2C| 2C |1+3C|2+3C|3+3C] 3C 1 2 3 0 1+¢ | 2+¢ | 3+¢C 4
3+¢ 2+3C[3+3¢| 3 |1+3]| 2 3 0 1 2+( | 3+¢ ¢ 1+C |2+2C[3+2(] 2¢ [1+2
2¢ 2 3 0 1 2+¢ | 3+¢ ¢ 1+¢ [2+20[3+2¢| 2¢ [1+2([2+3([3+3¢| 3¢ [1+3¢
1+2C 3+C ¢ 1+C | 2+C |3+2C| 2¢ |1+2C|2+2(|3+3¢C| 3 |1+3C|2+3C| 3 0 1 2
2+ 2( 2¢ 1+2¢[2+2C[3+2¢ 3¢ 1+3C[2+3¢[3+3¢ 0 1 2 3 ¢ 1+ [ 2+C | 3+C
3420 1+3C|2+3C[3+3C] 3 1 2 3 0 1+¢ | 2+C | 3+¢ ¢ [1+2¢[2+2([3+2(| 2
3¢ 1 2 3 0 1+( [ 2+¢ [ 3+¢ ¢ |1+2¢[2+2¢[3+2¢| 2¢ [1+3([2+3¢[3+3¢C| 3¢
1+3¢ 24+¢ | 3+¢ ¢ 14+¢ 24203+ 2¢ 14+20[24+3¢|3+3¢ 3¢ 1+3¢ 2 3 0 1
2+ 3( 3+2( 2¢ 1+20[2+2([3+3¢ 3¢ 1+3¢C[2+3¢ 3 0 1 2 3+¢ ¢ 1+ | 2+C
3+3C 3C [1+3C[2+3C[3+3(] 0© 1 2 3 ¢ 1+C | 2+C [ 3+C | 2¢ [1+2C|2+2([3+2
1—at

Table: The output table for f = r with r=1,a=1, and

b=2+C¢.
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Thank you!

skipper@math.binghamton.edu
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